
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษส่วน ทศนิยม ลําดับการดําเนินการดว้ยวงเล็บ

(5 + 4.1) × 3.4 = 5(3.7 + 4.3) =

( − 1) ÷ 2 =
5
52

(2 − ) × 4.7 =
6
1

2(3.4 − 4.9) = 2( − 5.6) =
5
1

4( + ) =
2
1

5
1

(3 + 4.3) × =
2
3

4(4.5 − 5.3) = 2( + 3.1) =
3
1
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษส่วน ทศนิยม ลําดับการดําเนินการดว้ยวงเล็บ

(5 + 4.1) × 3.4 =
50
1547 5(3.7 + 4.3) = 40

( − 1) ÷ 2 =
5
52

10
47

(2 − ) × 4.7 =
6
1

60
517

2(3.4 − 4.9) = (−3) 2( − 5.6) = (− )
5
1

5
54

4( + ) =
2
1

5
1

5
14

(3 + 4.3) × =
2
3

20
219

4(4.5 − 5.3) = (− )
5
16

2( + 3.1) =
3
1

15
103
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